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QUESTION 1

Which two options are correct regarding the IEEE 802.11ax standard? (Choose two.)

A. allows transmissions of up to 4.8Gbps

B. is an emerging satellite connection standard to allow wireless access anywhere in the world
C. operates only in the 5GHz similar to 802.11ac

D. operates in both the 2.4GHz and 5GHz radios bands

E. is the first WLAN standard to no longer use electromagnetic signals to transmit data

Correct Answer: AD

QUESTION 2

What are two features of the three-tier designs? (Choose two.)

A. removes the distribution layer in favor of a spine-leaf design used in modern data center deployments

B. adds a distribution layer to free up resources from the Core for improved performance and routing throughput

C. a more scalable design over by leveraging a distribution layer to handle Layer 3 routing and access control in large
deployments

D. uses only Layer 2 access on the Access and the Core with Layer 3 routing and access control provided at the
distribution layer

E. is considered legacy by requiring a large flat layer-two broadcast domain from Core to Access and should be
avoided

Correct Answer: BC

QUESTION 3

Refer to the exhibit

Bccess-1(config) # show vlan

VLAN Name Status  Reason Type Interfaces
1 DEFAULT VLAN 1 up ok default 1/1/1-1/1/28
20 Engineering down no member port static

What is true regarding VLAN 50 according to the diagram above?

A. VLAN 50 is part of a switched virtual interface (SVI) that was never routed causing it to be down.
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B. Since VLAN 50 has not been assigned to any enabled physical port, the status is down.
C. VLAN 50 is assigned only to Trunk ports which is why no ports are listed under interfaces.
D. VLAN 50 was never added to the vlan-database and therefore is in a down state.

Correct Answer: B

QUESTION 4

Refer to the exhibit.

Core-1 Port 1/1 Core-2 Port 1/2
10.1.1.1/30 10.1.1.2/30

Core-1 Core-2
~
\ Core-2 Port 1/3
~10.1.20.181/24
Host-B
e —— : __J_10.1.20.1f24

Traffic is failing between Core-1 and Host-B. IP addressing has correctly been applied, and all interfaces are attached to
the vrf GREEN.

Which configuration will correct the issue?

A. Core-2(config)# ip route 0.0.0.0/0 10.1.1.1 vrf GREEN Host-B: assign the default-gateway address 10.1.20.181

B. Core-1(config)# ip route 10.1.20.0/24 10.1.1.2 vif GREEN Host-B: assign the default-gateway address 10.1.20.181
C. Core-1(config)# ip route 10.1.20.0/24 10.1.1.2 vif GREEN Host-B: assign the default-gateway address 10.1.20.1
D. Host-B: assign the default-gateway address 10.1.20.181

Correct Answer: B

QUESTION 5
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What are two methods for remotely managing an Aruba AOS-CX switch? (Choose two.)
A. SNMPv2c

B. HTTPS

C. USB-C console

D. Telnet

E. SSH

Correct Answer: BE
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